

24

q = 132

 



 

 


      
    

  
 


 

     
    






24

 
        










 

    


     



 




         


24






   
  


 

 
               

 
 



    



 
 


   









































































 


    
  

   

cresc.      

     
     



      


    

     








       
cresc.      

      
 

    
  


 


   





    









    






    







    







    







     



  



 

  






   















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























































 
    





       




    

  
    


   




  





     
 
 
  



 





  

 


 


    







   

  
       



   






      
















 17 

  









 













































  



    

rit.
   

Andante 






  






  

q = 92

     
      

     




     
      





 
  


  

rit.   

 
 

  
  

 
 
  








 
 




 
 



 

 
 

  
























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   





 



 













































采茶扑蝶

                         Allegro
福建民间歌舞

杨宝智配伴奏

1

1



  
 

  


          
     





     
       





 

 


  

 
 




    




 






 

 


 
 

 


 


 


 


 

 



















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





















































  
rit.    




  



Tempo 1 
      

    
    


     

 


    
 


   

  
    


 

   





    



  
 

rit.    


  
 









 



    


     

  
 





  


 



 


     

 

 










    






    











    






    









   

















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  






 




 












































  

    

    

  
    

  
  

    
 

 
    

   





     


     





 

    









   

 


   


  



    


 





 

 



 












  

 
 




  




    




    




    




 
 

 





 


 
 








   

 
















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
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




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











































   

  





 

    







cresc.
    

  





    






   







   




 
  




pizz.


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